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Mach 30201, Spriog 2007, The University of Tiah

Thiz is & Sl-rimule closed-book, closcd-potes cxaom. You maey {and probably should) use o calonlator,

[

= ou may usc only your own work,

s Tablez end w formulo shecl wre io the back, Tlesse foc] free o tesr Ueen off, The F-table is 6 pages.
o Write vour e oo b top of every sheed. Tnpasned Ioose shests will ool e grocded

& DPortivl crodil B given only to clearby-written work.

o I vou don’l shenw the details of your work, you will noc receive any credit, regandless of vour answer

1. (15 points totel) Threoe identico] [cleciricel] resistors woere eech subjecied Lo thiree difcront temperatures
for 24 Twars. Then, the resistances were compited using & stanaerd slectrical cest. The dastia Toffows
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[a] (10 poinls] Test e hypolhesis el Lhe thres different. cemperatures do nnd alter Lhe averpe
resistanre of & resistor. Hepams your F-value.
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{4} {3 points) What assumptions are you eoviking? Explein cleerly how vou might Lry to verify /Teject
vonk assumplions?
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normal plot for &H%_ 2
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normal plot for .__.NﬁH_ 3
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2, (10 puis) The following is actual 1860 cancer data for & states in We coonlry, The columns are:

fal Siale = the state (e, MY = “Maryiand.™ |
(b} Clig = the number of cigarettes (heads ner capita) smnked.
(v} Lung = deaths (per 1000 popelstion) from lung cencer.

(Goure: J.F. Fraomeni. “Cigaretie smoking and cancers of the wrinaey tract: Geograplie veristions
in the United States,” Jowrnal of e Nolropal Cancer Tnstuiule 41, 1205 1211

State : ] Lung || CigxLung

ME: 28.02 2004 BUE.5845
M 25,91 2648 (BG.006E
MA LR 2204 5L 16
% 24.30 2973 GGT.0012
M 2208 14.20 L2520
S | (.08 15.60 250.3480
LS [ 27,56 20L98 BTH. 2088
MT | 2375 19.50 || 463.1250
[ mean 2459 | 90.3075 L0y 1904
| variance || 16.33781 | 1541256 | ZAERGE5 |

Tinegd the Lest line char explains “eig”™ versus “lung.”
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